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1. The Railway affecting tank which still requires heavy refairs, desl;:sSWEd reminders
of Railway, should be considered and included in the Il'f:i ost? locat
a) Vulnerable b) Bad c) Important  d) Wa

T B AT R ar 3 Y 1o Y dR-aR A1 e & araopg 390 Y Al Aa
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2. What is the minimum horizontal distance of a platform coping (goods or passenger) from
the adjacent track centre? -
a) 1670mm  b) 1690mm c) 840mm d) 760mm

ST~ & g, 3 (1ol 1 ATHY) 1 FehTarelt Y aTeY AR Y wgeraet BfveT gl T
V) 1670 Be ) 1690 el W ss0 R D) 760 B

3. What is the minimum height of the bottom of an ROB in AC traction area
from rail level

a) 5870 b)5500 c)5460 d)5200
mmmﬁwmnﬂdﬁ:aaaﬁra@mim%m%iﬁm#
©)5870 d1)5500 w5460 =) 5200 '

4. Height gauges should be located at a minimum distance of __m from the gatepost.
a) 6 b)8 c) 10 d) 20 '

31 AYS & 37 e J FAAFA __ et gl ¥ Rea derame
)6 dh 8 @) 10 3 20

5. As per IRPWM one speed breaker should be provided on either approach of level

crossing located within the railway boundary at a distance maximum feasible but not
exceeding m.

a)s ~ b)10 c)20 d) 30

mpwngmmmammﬁmwa:mmeaﬁmmq&w
wmmm%mmmfmaﬁw_m#maﬁl
)5 @M 10 i 20 M 30

6. Maximum accumulation of LAP [ days
a) 100 b) 200 c) 300 d) 400
Tl 1 AfSaa gag g

T) 100 &) 200 ) 300 1) 400

7. Patemity leave for male Rly. employee is eligible for days.
a)5 b) 10 c) 15 d) 20

wh&*%uﬁqamﬂaﬁ_ﬁa?%ﬁvqﬁéi
5 € 10 @M 15 ) 20



8. The Standard Form (SF) used formhor,pemltydlafgesmajs_J
a)SF 5 b) SF 1 ¢)SF11- d)SF3 . 3
me*mmﬁmaﬁmmmmﬁ#

U)THUG 5  d)umuw1 @) owUEl1 9 THURS

©. In case of major penalties, the final orders passed by the disciplinary authority; giving
reasons for, are known as____ ]

a) Speaking b) Penalty ¢) Punishment d) passing -

T R & A 4, oo WY T R T I3, T 0T I g,
— TSR TR T

A dsEer d@wen S)wReE

10.MinhmMofdutyh1ﬁﬁnmogntreﬁ1eafnearesthackoﬂBGis_
) 2meters  b)3meters c)4 meters  d) 6 meters

Sy o B tr R IR TR A TN e P e g%

Y)2#er @3l WadT MEAR

11, Aleuelﬂmh-ngqﬂﬁasfurmnshucﬁmufRoado'qerBﬁdg&’UndaBﬁdgem Cost
sharing basis with Stale Government when the Train Vehicle Unit is more than
a) 50,000 b) 1,00,000 <) 3,00,000 d) 5,00,000

mw%%ﬁﬂaﬂa%ﬁﬁw*ﬁnﬁmﬁﬁﬂmﬂ?aﬂmﬂﬁ
HRF R R U IR T g WEeR
150000 @)100000 W)3,00000 =N 500,000

12. Thesideslopeuffonnaﬁonmemhmhrmﬂis__
a)z2:1 ., by1:1 c) 15 d)1:3

Tt 3 ST FT 9IS S ¥

w21 |1 @ 1:5 13

13. Theodolite is an instrument used for ___

a) Tightening the capstan-headed nuts of level tube
b) Measurement of horizontal angles only

c) Measurement of vertical angles only .
d) Measurement of both horizontal and vertical angles

RREIse T 39RO § TSEH 399 & e R smar e
T) A TP F FIEI033 ATH ol Hgelr
&) S T Tl 1 AgeT

) Fad FEATL HIVIT BT AT
) SR A TR S FHoit 1 A

14. In ordinary cement, about 99% of its final strength is achieved in :
a) 3 days b) 7 days c)28days  d)1year —
greror Wt F, FHHT 3R Al 1 o so% LT Sh—

wala 7R WmRT Mg



15. Bulking of sand occurs in the moisture content of __—
a) 3% b) 5% c) 10% d) 12%

A & SnE = =1t 1 #ET A g gl

T) 3% 5% @) 10% M 12%

?
1;5-;2;11“0”“3 following is the main advantage of the plywod
a is more in the longitudinal direction.
b) Strength is more in the transverse direction.
€) Tensile strength is same in all directions.
d) Shrinkage stress is minimum.

AeRRT d st ATETS 1 7T A &7
V) AT FRR R F IR A 2
ﬂ)&lﬁmﬁm#aﬂaﬁmmtl
@]mﬁmﬂﬂ#mmmmat

) VR T e

1?.1hefrardwnodispmdtmdbywhidwfﬂ1eﬁﬂowingtees?
a) Chir b) Kail c) Pine d) Shishum

FeRRa I san 3T T ScdTest alal &7
T R N F @) e 31 A

1B-Wﬂpanermeofﬂremstofmem|ateispmﬁdedfarmeworkdnrged
establishment?

a) 2% b}-B% c) 10% d) 14%
mqmﬁamtﬁwmmwﬁﬁmmmﬁmm%?
) 2% 8% @ W@ 10% =) 14%

19. What i the thickness (inches) of the one brick wall made up of fraditional brick?
a2  b)10 18  d20
)9 & 10 ¥ 18 M 20

20. Excess vibration during compacting of concrete can lead to:

Bleeding b) Segregation c) High strength d) Air bubbles
:%za;#mﬁakmmwtmﬁm&

T) =REaT b) AT c) FIS T d) WY gaey

Which of the below property of aggregates is not desirabje?
ﬁ;smm.we b) Well graded C) Angular shape

gaEega & st i @ S W aor aisety A ¥
v) Re=h saae @) 38 @ A adfiga ) Folrr e ) SR 7R

d) Smaller size

22. The rain waterholes in the parapet or in edging is called as .
a) Water proofing b) Weep hole c) Edge hole d) Hole



2 ar Bt & At St R A Fed &

v) arex it ) &9 A ) oo B M &
23. A project construction cost estimate includes the

a) All of the options b) Equipment and overhead cost

¢) Labour and material cost d) Profit of the contractor

U IRANSAT T AT e aRe §

1) @ e ) 39T Td IR &3 AT

A1) A T {AAT deTg ST) Sehe R &1 AT

24. What is the schedule of inspection of building along running lines for SSE (Works)
a) Once ina Year b) Once in 6 months
c) Once in 2 Months d) Every Month

THUES (F9) & TT 3T crger & wrer svae & Fordvaror o ki T €
T) 91 # U a0 ) 6 AQ #F U AR

) 2 7R A U aR d) | A=

25. What is the frequency of meeting of colony committees?

a) Once ina Year b) Once in 2 months
c) Once in 3 Months d) Every month

oot et 1 dot 1 gl e ¥2

T) HId A 0 a) M2 A A vH aR
@ 3 A A TH aR N e AEH

26. When does Zonal Contract Commence from?

a) 1% April b) 1 January c) 1% March d) 1%t July
AT Helae Fa § IR S 87

R G @) 1 Sl ) 17 3N 1 oS

27. What is the frequency of inspec!ion for SSE (Works) for Structures with Roof Trusses?
a) Once in 6 months b) Once in a month c)Oncein2 months  d) Once a Year

B g0 & AT AL & fAT vaTEs (a5d) & fav eror & gl s g
DEAAATHFIR bDFAAAGAR o) 2AAATHIN  d) W # T a0
28. What test is done for checking residual chlorine?

a) Orthotolodine test b) pH test C) Atterberg Test  d) SPT test

rafarse ST T site 3 fore Flar-am odeTor R ST 82
v didfeEEa ke MIWER  Mrewite fwhd e

29. What should be the height of platform surface from Rail Level for High Level

Platforms?

a) 760-840mm b) 1000-1200mm c) 800-1000mm d) 1500-2000mm



; gl aifee?
mmmtﬁummﬁmﬂmﬁ;’?mzmm
U) 760-840 fAafr  &ft) 1000-1200 A+ ¥f¥) 800-1000

30. What is the meaning of Min M25 in concrete’ rial
a) Mean Strength  b) Mostly c) Mix d) Mate

Fhle 7 YATH M25 F7 37 3714 32

) e gy ) e ) o FeREE

31. What is the size of cube used for testing of concrete?
a) 2000mm b) 1000mm c)500mm  d) 150mm

e 3 ST &5 v 3 R ST ATk e T T T &7
©)2000 el ) 1000 Bt dnsgo el 4 150 R

32. What is the minimum grade of concrete for R.C.C structures exposed to sea water?

a) M50 b) M40 c) M20 d) M30
H&a&m##ﬁﬁ&nﬁmﬂrmﬂmmﬁ#ﬁméﬂzﬁwmwa‘?
T) TH50 dh) wHd0 ) TH20 31 TH30

33. What is the full form of RMC?

a) Ready Material concrete b) Ready Mixed concrete

¢) Rapid Mix Concrete d) Ready Made concrete

IRTHAY 7 qot w7 =7 $2

T) B AT dfre ) B s Ffie

) s Ry A N ErasF=he

34. What is the minimum cover for structural members exposed to moderate conditions?
a) 150mm b) 75mm ¢) 100mm d) 30mm

mW##ﬁﬁmﬁmﬂWuﬁ*mﬂaﬂnmwﬁ?
T) 150 Ay & 75 AT Hh 100 =i 21 30 A

35. SOR items are described in how many digits?
a) 10 b) 6 c)8 d)2
SOR Ae} # feret 3t & aftter R sirar 22

T) 10 e 4 8 M2
36. What is the standard size of a modular clay brick?

a) 20cm x 10 cm x 10 cm b) 15cm x15 cm X15 cm
c) 20cm x 5cm x 5 cm d) 30 cm x15 cm x15 ¢m

AISTeR AT ¥ §e &1 v IR Far &7
T) 20 AHY x10 A x10 S M 15 A58 x15 B3 x15 @iy

37. Which of the following wall is constructed to resist the pressure of an earth filling>
a) Parapet wall b) Bufiress ¢) Retaining wall d) Breast waf h filling?

ﬁmﬁﬁaﬁ#mmﬂmﬁwm#mwﬁmmtﬁmmﬂgﬁ
©) e & @ agw ) e ate N e aiey



38. Which of 1!1E following is NOT a treatment method for water?
a) sedimentation b) filtration  c¢) tuberculation d) flocculation

frfaf@d 3% A Fla-dr e 39 R @ 22
U) ades & Pwiga @) aRE ) TG

JY.1Ne Naraest among tne natural stones listed here IS ___
a) Limestone b) Slate c) Granite d) Marble

TeT Y Uipfas YRl A wed FoR &
T) el 2R ) e WmAeze &) FAAEH

:?-0 ’vxha! iszthe schedule of inspection for FOBs for SSE (Works)?
ceinZyears  b)Oncein2months ¢)Onceinayear d)Onceinamonth

oS (F) & AT Uiy 3 Reror F e T 32
U)2AFATHFIN M2A0ATHar WATATHER D) AAATH TN

41. Which of the following tests are used for determining the properties of soil?

a) Proctor Test by V

c) Standard Penetration Test dg AIEI’::? ;1&:;23;3

m ﬁ#ﬂ-mﬁmﬁgﬁ#alﬂﬁﬁﬁiﬁﬂﬂmfﬁﬁmmﬁﬁmm%?
T) Hise eFT @) 3 M T

H1) ¥33 9fevs & 3) 3T el

42. Los Angles test is used for testing which property of ag ?
f gregates?
a) Gradation b) Strength  c) Abrasion  d) Hardness

A UaTed TIRTOT 1 39T BHEE & B apor & wderor & faw R s 82
T) AU CHGIET] ) Tt A) FAAT
43. Damp Proofing is done for what?

a) Protection against sound b) Protection against water
c) Protection against termites d) Protection against heat

&g yfither fre farw 1 ST 87

v) eafer & g &) arel & e

) Qs | g &) It & FeeT

44. What does RDSO stand for?

a) Railway Design and Specification Organisation
b) Research Design and Specification Organisation

¢) Research Design and Standards Orgqnisgrﬁon
d) Railway Design and Standards Organisation

RDSO &7 &1 34 87



; ing i T a catego
45. As per latest guidelines of Railway Board, which of the following is NO egory of
station.

a) HG b) SG c) NSG d) Category A
YOI @ & riercrer Renfordat & e, e # & et a1 w2 1 AN 7 21
UUTESh ) eash W eEst M Aohw

46. What is the maximum permissible gradient in yards?
a)1in260 b)1in 1000 ¢)1in400 d)1in 100

ST 3 1T T aer 82
U26071 &) 100031 WM400A1 M100A 1

47. What is the meaning of SBC of soil?

3) Simple Bearing Capacity b) Safe Bearing Capacity
©) Soil Bearing Capacity d) None of the above
e & vadiedy 37 sy T2

©) | 3T &THaT ) TR 387 g
) FeT 4T saar & I 7 QA B 7

48. How many Maternity leaves are available to a female employee?
a) 90 days b) 18V days C) 365 days d) /3U days

wmmﬂﬁ?ﬁ#mﬁmﬁaﬂ%‘?
T) 90 RBey d) 180 et W3esRa & 730 Re

49. High Level platforms are to be provided at which of the following category of stations
a) NSG-1 b) SG-1 c) HG-1 d) All of the above \ caegory

ﬁmﬁﬁa##ﬁmﬂm%mﬁﬂwmmﬂuﬁtﬁﬁmmmﬁ%
T) NSG-1 1) SG-1 ) HG-1 3 IWFT Tt

50. What is the permissible limit of TDS in poriable water.
a) 500-2000 b) 600-1000 c) 100-200 d) 0-100

Eaer grelt # Sfey Hr Wi DA Far e
T) 500-2000 1) 600-1000  ©Y) 100-200 31 0-100

51. What is the full form of QAP?

a) Quick Assurance Flan b) Lluality Assurance Fian

c) Quick Action Plan d) Quality Approval Plan

U & qof ¥ 747 §7

U) caRa AreErE Arsten ) I[OTaaT IHTRETHT Aty

) cafier R At 31) IUTEET efAles At

S e O e Pt aamg
Hared 9T 7 i i A AT e

) 10mg/L s 0.01mg/L ) 0.05mg/L 2 1.0mg/L

53. What should be the minimum contact time for Chlorine for drinking water supply?
a) 10-15mins  b) 30- 60 mins c)Smins  d) 120 mins '



< & Y T IR 35 For Foiier 35 N Tt s @l 1 QT e
1015 &) 30- 60 B=e @sfae 120

54. During Monsoon months, super- chlorination shall be done if required at what
concentration of chlorine?

a) >1ppm b) >5 ppm c) >3ppm d_) >2ppm
A & FEA & SR, 2R Fareaws ot it Frlier Y R Aigrell O FILFAIIAHOT
SATTAT?

T)>1 ppm d) >5 ppm ) >3ppm 31) >2ppm

55. Value of work order under zonal contract power of sanction limit for JAG/Sr Scale officer
(o) Is lacs.

a) 10 b) 5 c)2 d) 4

STESNARSS dererantar iR () e wigpfar W ey Iy erferet 3 clged i
IEAF AT ammd

) 10 s M 2 M4

56. In case of non-execution of work orders of zonal contracts by the agency __ % penalty of
work value will be imposed.

a) 10 b) 20 c) 25 d) 100

m@mmwammﬁﬁﬁﬂﬁmeﬂmeﬁr%ﬁﬁmmﬂﬁ%w
SITAT ST

T) 10 amn 20 ) 25 2 100

57. Earthwork in embankment for railway with manual compaction should be done in layers
not exceeding:

a) 10cm b) 20cm ¢) 30cm d) 50cm

Qﬁﬁ#ﬁqaﬁﬂﬁﬁ@ﬁaﬁ#ﬁmmﬁmﬁ@aaﬂmm#mmmﬁm
©) 10 T &1 20 I 4 30 [ 31 50 JAY

58. A temporary enclosure in a river built around a working area for the purpose of
excluding water during construction is known as:
a) Caisson b) Cofferdam c) Augur d) sheet pile wall

ﬁmﬁwa:ahmqﬁﬁﬁmmﬁ#m#wmm*wmﬁﬁhHaﬁmm
T I AT AT &

9 b (A ) 3R 31) AT IS AT
59. Cross slope of the formation to have good drainage of ballast section is:
a)1in 40 b) 1in 50 c)1in20 d) 1in 30

fredy @3 Hr 3red) Siel T & TIT A1 7 Hi T &

T40H1 @ 50H 1 @ 2071 M 3071

60. The catch water drains are provided inthe ____

a) formation in the embankment b) zero fill formation
¢) formation in cutting d) steep gradient



Ao e anfaat Y caawr AT §

T) dea o area o) Y I 31
) e 7 a1ser 31) drd arel  oa
receive the ballast is called
61. For laying a railway track the prepared surface ready tod) Cushion
a) Formation b) Sub ballast c) Blanket &t FEroaTd
T L o & R s s a3t & e 391 39N FaE
T) raw ) 39 fredy ¥ =t shgw
62. The height of formation depends upon the
a) Ground contour only b) Gradient adopted only . dooted
c) rainfall d) ground contour and gradient adop
ST FFAE_ 0¥ iy e &
©) T M35 Fey ) Fae AfSve srg=mar
|1) aur 31 ST aAreT 3R ard IS TS
63. The ratio of volume of water present in given soil sample to the total volume of voids in it
is known as =
a) degree of saturation b) percentage of air voids
¢) Void ratio d) Porosity

%@Wﬁﬁ*ﬂﬁ##ﬂh@%ﬁmtmﬁﬂﬁaﬁiﬁrgﬁm$mﬁﬂ#q
a’smﬁmma
) Wefee r fadr &) arg RfFaat # ufgerg

) Y I ) &

o4. 1Ne inlual seting ume tor UM cement as PEr 1S specincation shoula pe not less than

a) 10 minutes b) 30 minutes €) 60 minutes d) 600 minutes

WWH$WMM$WWWWW#W ..... Bl TifRe

65. Free board is the level difference between formation level and

a) Rail level b) HFL c) Bed level d) Danger leve|

fo: qewm A e ww Ik Fdm FTER Iaw g

)W ER d) TavETd @) Az '@ w ) @AY w7

66. Minimum free board required in a bridge is 2

aim b)1.2m ¢) 600 mm d) 300 mm

U 5T & Aawas eaan wras

v) 1 #Hrex dn 1.2 ey ") 600 faaf s1) 300 fAsy

67. The quantity of wood for shutter of doors and Windows are Calculated in
a) cubic meter b) lumpsum C) meter d) square meter

mﬁmw*amﬁmmﬂmﬁmhﬁﬁm%
) U Hex <) TR ) ey M @t ey
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08.The documents containing detailed description of all items of works excluding

quantity along with the current rates are _
a) analysis of rates  b) tender document

IS 3 SATE &30 & FT STy AT FY Sz Frat i @ #el 1 AFge faaor ¢
nedFfRawr @) PRamERe dnanseEe ) &R e

69. Reinforcement of RCC work is measured in S

c) abstract estimate d) schedule of rates

a) square meter b) cubic meter c) meter d) kg
A FE & oA Farramary
T) &9 #HeT ) ue #frex ) e 2 e

/0. Schedule of colour washing exterior plastered surface for service building is once in a

a)5years  b)2years c)iyears  d)3years
aﬁam#mmmmwwhmﬁﬁwﬁm_ﬁﬁﬁl
T) 58 ) 2 | e @ 19 3N 39

71. As per IRWM, what is the desirable limit of PH for drinking water?
a)6to7 b)4.5t0 6.5 c)85t010.5 d)6.5t0 85

IRWM & 38R, diet & aift & faie PH 4 sioefia i a2 22
TEH7 d) 45865 d@n 85d10.5 M65885

72. Fixed point of known R.L is knownas ___
a) Bench mark  b) Fixed mark c) permanent mark d) all of these

Ad RL& AfRaa Mg #1 __ F o d e s ¢
U) &9 A ) A O R A 3N Trash

73. The first reading taken from after instrument is set up is called
a) Foresight b) backsight c) Intermediate sight  d) Height of instrument

U0 T et & ag A A IS g ABT A sgramard
U)gEar A deERe W) sceilre e @) syaword s

74. MSL stands for ____
a) Mean Standard level b) Maximum Sea level c) Mean Sea level d) all above

THUHTA T AAAG &
o) T AES E @) FRA R SR ) e ang e D) s9eT i

75. Which of the following is NOT a correct statemgnt?
) The first reading from a Ieve_l station is a Fore Sight.
) Basic principle of surveying is to work from whole to parts.
c) Contours of different elevations may intersect each other in case of an overhanging cliff.

d) Planimeter is used for measuring area.



ﬁmﬁﬁaﬁﬂmmaﬁmﬂﬁﬁ
uymmmm@mﬂﬁnmmﬁmm .
m)aﬂmwwﬁaﬁiﬁm#mﬁﬂmﬁm ‘ wj@){ﬁmmgl
m’ﬁmﬁ%a@ﬂtmﬁﬁm-mm?azw

T) &l TR o T CIRATATER b1 3Tl T el €1

r found to be insufficient, them
d) Micro concreting

ost effective way to

76. If a beam or column becomes weak 0

increase its strength is by __ _
a) Jacketing b) Grouting c) Plate Bonding

ﬂﬁﬁ%mmﬁmwa?m?mmwmﬁa?ﬁﬂmm

&I Hal WHE a0 qaRTE
U)SHERA A A  HT) e ST 1) ATgHH FNC

77. Cavity wall is generally provided for ___
a) Prevention of dampness  b) Heat insulation

8T &YaR 3H AR W ___ & e v S &
T) HTel=T AT IhATH ) 71T SR an) |38 FYeRIe 3T) JHT Idhed

¢) Sound insulation  d) All of the options

78. If the soil has a very low bearing capacity and still if piles are not a feasible option, then

the best choice is ___
a) Combined footings  b) Strap foundation  c) Individual footings  d) Mat raft

afe; FAeer i ager aar aga #91 § AT 6T st 3T werg Fasred a1¢T ¢, o wed oo fashey &
U)FaEs Pt M RUEERE @ A@EE@ERTE AT

79. Which of the following lines are used to show that the object is cut and then viewed?
a) Hatching lines  b) Hidden lines c¢) Centre lines  d) Leader lines

ot ¥ & Tra oireer =7 39T Te e & fare far sima & B avg ) a1e &3 3y 22
v ifRas &) Rsaasa ) HeT s 3N N AT

80. The crossing angle at the level crossing of road-rail crossing should NOT be less than
a) 25° b) 45° c) 30° d) 20°

HSH-Tol I & TAUR U HITAT 0T A FH gl glal dIigT

T) 25° ) 45° | 30° 3 20°

81. Which finishing covers with a new protective layer over the whole rface

constructed by brick or block Masonry? suriace area of walls
a) Grouting b) Pointing  c) Plastering d) False Ceiling
ﬁmmﬁﬁmﬁmﬁﬁaﬁaﬁ*@mmww%?mmm%mmm
RpfATRIeT et 8T &7

T) ABTEA dT) qrs1edT HT) ClEHAT  =T) BTed HITHAT

82. Minimum voids in aggregates can be obtained by using _
a) Manufactured aggregates b) Aggregates of the same sjze
c) Aggregates of the same shape d) Aggregates of varying sizes

12



Wﬁmm_ﬂmmwﬂmmﬁ?

=) Rfafia == @) A R & FA
¢) U g1 HFR & W= ) 3T 3T HHR F e
a3. Honeycombing defect in RCC members is caused by action  d)Ch emical reaction

a) Poor curing b) Shock waves c) Inadequate com
et were 3 g EaIT QYW & HIOT gl t

mEUE SIS &) A T ) e g 3 JEEE SIcTReab

84.The moisture content of a well-seasoned wood is in the r?nge —
a) 48-21% b) 10-12% c) 60-65% d) 27-35%

s 3ol T & gl o B ey B v __ W A @ ©
T) 48-21% an10-12%  WNe0-65% 31 27-35%

85. M10 grade of concrete mixing ratio is approximately ___

a)1:5:10 b)1:1:2 c)1:2:4 d)1:.3:6
shshIe FRAOT IETITA T M10 315 FomT ¥
T)1:5:10 an1:1:2 an1:2:4 3136

86. The densification of a soil by means of mechanical manipulation is calle_zc! —
a) Compaction  b) Soil stabilization  c) Compression  d) Compressibility

T3 ST & AT F AT &7 HElaor _ Fgondr &
T) g o) FeT RYEROT ) FEA 21) qaTSdr
87. In roofing sheet terminology CGl means __

a) Coated Grating Iron b) Corrugated Grating Iron
c) Corrugated Galvanized lron  d) Coated Galvanized Iron

&b M e HCGI FHI & ___
v) s AT A= @) Femes AT IRRET
@) Fomes  ficddges  HRRA MRz Aedersss I

88. The type of valve which allows water to flow in one direction but prevents its flow in the
reverse directionis __ ‘

a) Sluice valve b) Reflux valve c) Air relief valve d) Pressure relief valve
aTed &1 WER SiT Tl I T 1801 3 g & § Afthet 38 wale #t freda R A dwrar 2,
vrgaaes A Recmwaca W) IYVET AT 2 gaE Tpd ded

5Y. | ne most reliable fieid test to determine the bearing capacity of a soil Is ___
a) Direct shear test  b) Cone penetration test  c¢) Sounding test ~ d) Plate load test
freéy 1 ager aIal foeiita 6T & T waw R & admor __ ¢

T) SRAEE WAL ST &) Fled Yo T MBS e dsare

90. Slipform Paver is an equipment used for constructing -

a) Precast elements b) Pavements c) Chimney d) Walls
Wﬁmﬁw?mmﬁmtﬁvﬁmmg-
) FEE acd . &) g ) Reeh & &ran
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101.%%%3@?&3%3@3%&#%*“#@%%@7@

1) i 348 (i) ) 37 346 (i)

) 31T 343 (i) &) JreTearg 345 (i)

102. frgr IR &1 R & v aa= & Aok e
T) 26 S=adl, 1950 So @) 14 Taarat, 1949 go
) 14 ey, 1950 2o ) 15 I9TEd, 1947 So

103. Wi & sefede 351 # e fawar &7 avfer &2
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